E2LAE! HAIS TRI0] 9
Bix], A Et

=5 4Y/HIE o[0ix|

© HEINRICH KIPP WERK GmbH & Co. KG

| — =
El L= AE|QI3|A AR OIHA =
ks
HE &9:
OIEA BIR| £ 50 Hol o3t X3 Azl

HZEZ YK[SHoF 5t= ol AASE

HM EEE +SEE FLE S
X2 OIS E = US

QAU AlZH EB{ U FF EIO| CHA| Bl=
Rg dx|st7| M= Bt C == DE
o|&3Hok &.

THE:

28 HT:

LIAL £2[E X &3 £l }HarZ,

AH|IQIZA AEl HA:
&= E 383k

LEAL &2|E 1.4305.

2 El1.4034.
= E, 3 K| et S

LA} £2|E 1.4305.

= El1.4305.

A O, GotAd, TS|,

EM OlF2]:

2B HT:

LIAF &2, A &5t %2

23 E, Est Aal, Aok X AY & RE2]

L

=
LIAL &2|2, F2E X2
= E, Fst 2 Ao, FE M2l
2 E, F723 2 odn, FEEL X2
HAIS a2l 43|24 RAL7021.
2FEAl:
E4 A HE
0 M.
Et A: &2 &% 93, &2 HE I8
EtelB: &= &R Q1I2, &2 HE Q2
ElC: &2 &2 U2, H2 HE Qg
EI D: &2 22 U, 2 HE US

www.kipp.com

- info@kipp.com

1/3



°
] = | - | - =]
Sa}AE| B S ORI0| Qs AR EE AHQIHA AR QA =
gix{, 710{ =&}
=N
® ® © @)
D2 D2
[} [ 1 | ]
SWi []] \ SWi
!
|
] g S| o
. | | w
o SW2 o
I SW2
L | D |8 D38
oL o]
EZS 29
olA ZIX|
FEWHS ELQ] 2 A =2 E D D1 D2 L L1L2L3 AEE3 SW1 Fx30° INES] EbA
S EbN =
F12kE N F29. N
K0339.1105 A AE 28t 5 M10x1 21 47 17 7 15 5 13 1,3 5 12
K0339.1206 A AE Zs 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14
K0339.1308 A AEl 28 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.1410 A AE Zs 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.01105 A AHQIBA AR At 5 M10x1 21 47 17 7 15 5 13 1,3 5 12
K0339.01206 A AH|QlEA AE 28 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14
K0339.01308 A AEQIFA AE 28 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.01410 A AHQIBA AR 23 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.11105 A AE|QlEA AE HIZE& 5 M10x1 21 4717 7 15 5 13 1,3 5 12
K0339.11206 A AE|QlEA AE] HIZE3 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14
K0339.11308 A AE|QlEA AE HIZ48t 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.11410 A AE|QIEA AE HIZ48 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.2105 B AE 28 5 M10x1 21 4717 7 15 5 13 1,3 5 12
K0339.2206 B 2El 28 6 M12x1,5 2556 20 8 17 6 14 1,8 6 14
K0339.2308 B AE 28 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.2410 B AE 28 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.02105 B AHQlE|A AE Zst 5 M10x1 21 4717 7 15 5 13 1,3 5 12
K0339.02206 B AE|QlEA AE 28 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14
K0339.02308 B AE|QlEA AE] 28 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.02410 B AEQIFA AE 23 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.12105 B AE|QlEA AE HIZE& 5 M10x1 21 47 17 7 15 5 13 1,3 5 12
K0339.12206 B AE|QlEA AE] HIZH8 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14
K0339.12308 B AE|QlEA AE HIZ48 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.12410 B AE|QIEA AE HIZ43 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.3105 C AEl dst 5 M10x1 21 47 17 7 15 5 13 1,3 5 12
K0339.3206 c AEl A8 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14
K0339.3308 c AE 28 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.3410 C AEl 28 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.03105 c AE|QIE|A AE s 5 M10x1 21 4717 7 15 5 13 1,3 5 12
K0339.03206 C AE|QlEA AE] 28 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14
K0339.03308 c AEQIFA AE 28 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.03410 c AEQIP|A AE Z& 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.13105 c AE|QlEA AE] HIZE& 5 M10x1 21 47 17 7 15 5 13 1,3 5 12
K0339.13206 C AEQIBA AR HIZE8 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/3



°
= —_ —_ =
Sa}AE| B S ORI0| Qs AR EE AHQIHA AR QA =
gix], 7t] =&
EZ5 29
FREWHS Bt =2 BNES] =2 E D D1 D2 L L1L2L3 AEE3 SW1 Fx30° AF Erd
S Bty s=
F19%. N F29. N
K0339.13308 C AHQIEIA AR H[FSE 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.13410 C AEQlEA AE HIZE 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.4105 D A8 dst 5 MI10x1 214717 7 15 5 13 1,3 5 12
K0339.4206 D A& Zst 6 M12x1,5 25 5620 8 17 6 14 1,8 6 14
K0339.4308 D N Zst 8 M16x1,5 33 74 26 10 23 8 19 23 15 35
K0339.4410 D A8 Zst 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.04105 D AHIQIHA AR ZFst 5 M10x1 214717 7 15 5 13 1,3 5 12
K0339.04206 D AEQlaa A Zst 6 M12x1,5 255620 8 17 6 14 1,8 6 14
K0339.04308 D AHQIEA AR Zdst 8 M16x1,5 33 74 26 10 23 8 19 23 15 35
K0339.04410 D AHIQIHA AR Zst 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.14105 D AE|QIEA AR HIZZ 5 M10x1 21 47 17 7 15 5 13 1,3 5 12
K0339.14206 D AHIQIEIA A8 HIEE 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14
K0339.14308 D AHQIEIA A8 HIFE 8 M16x1,5 33 74 26 10 23 8 19 23 15 35
K0339.14410 D AEQlEA A8 HIZE 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



